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M.COM. DEGREE EXAMINATION, MAY - 2018

Second Year
International Business

Time : 3 Hours Maximum Marks : 70

Section - A

Answer any four of the following

4 x5=20)
Q1) a) Regional trade
PoBoH HFBo
b) Domestic trade
BBod HTBO
c) Multinational corporate culture
ST0FREAD 562365 DO, B
d) International Business
©0STEOD BRSO
a3
e) Multilateral agreements
TVEREE 2>5)00IP0
f) HRM
B0 HHO DB,sees (HRM)
g) International logistics
@oécgéod) Savoee (2e3)8)
h) Trade barriers
BB ©LOBL0
Section — B 2 x10 =20)

Answer any two of the following

02) What is the impact of generic strategies on the production & operations management
of international business firm?
©0BSRB0D TS DO D08, GBS HoOOT) SeG;Eerare DYERHBOP FPoSHD HRsa8e

87DHAB0Q0E3?



03) How do you use the organizational relationship in controlling international business
operations? Explain
©OBRE0H ;T HT;BeRDOB) DODOBOTHES? HHIRIB HOLOIVT & LSO

SHABPBRE?

04) Explain the factors influencing the international logistics management.
©OBRBAH S50 DE0 DePDB0 DD SO DHOOENHN.

05) Explain the problems involved in controlling and evaluating international business
operations.
@oéoegéaﬁ D30T BoBereaee A0S H0OO D&oZoS Ko DEVDGOR0 HBOOEYED.

Section — C 2 x15 =30)

Answer any two of the following

06) Discuss the main objectives of international trade.
BOBTPEOD HBBEO G308, H00Y; GOTOBI WHODH0.

07) Explain about modern trade strategies applied in International business.
BOBTEOD TEPE0ST SBHAINPA0E BEOIVE HTE BRI BOYHD.

08) What is the role and process of international business?
©0BSRB0H TS0 CBNT, MG H0O0HO HEOHBO Beaw

09) Why is international business not a bed of roses? Elucidate your answer with suitable

examples.
@oécgéod) TR0 DOLIBD POINE BT O DBPERTRY BOS  GGRRSHOS?
DDBOOYD.
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M.COM. DEGREE EXAMINATION, MAY - 2018

Second Year
Management of Information Systems

Time : 3 Hours Maximum Marks : 70

Section - A
Answer any four of the following (4 x5=20)

Q1) a) Computer Network
BogR 8 Be5EE,,

b) Hardware
585536
c) Software
2535
d) Decision Making Information
DEAD HEOD HHTTTO
e) Data Mining
@ere Bovos
f) LAN
LAN
g) MAN
MAN
h) Objectives of MIS
MIS Bsoxmeen

Section — B 2 x10 =20)

Answer any two of the following

02) Establish the framework of information system.
085S 535857 DOBD 5708 BYE.

03) Explain the trends in information technology.
DB IS DOBBEBS® HIREOTO HBOOYHW.



04) Describe software life cycle models with examples.
DRHIE B VS BoLEE,0 DECIETBEOT HYOREBD.

05) How you will organise data in relational Data Base Management Systems?
OBRBS Bero B BV EB00E5 LPS® S50 TR D DGO DTN TRBO?

Section — C 2 x15 =30)

Answer any two of the following

06) Explain the overview of system analysis and design in detail.
RS0 DB BODOT HEATRRPOKD 5708 HBDODIHD.

07) Explain computer network models
éo@gséoE 5@5&5& 5336%553 (5328) DBOOFDBN

08) Why is MIS looked upon as a strategic need of management today?
83 68299 MIS &0 0587060 3208, H505088,5 S5FEB0? DOLIB) DHHTY?

09) Explain importance of MIS
MIS G308, Doeres8550 HBO0DD
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Second Year

A-ACCOUNTING
Advanced Financial Accounting
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any four of the following questions. (4 x5 =20)

Q1) a) Financial Statements.
DB DIDBe0.

b) Liquid Ratios.
SHB DHYBEO.

¢) Annuity Method.
D005 DLIN.
S

d) Dual (or Fair Value) Method.
55085 DEB (B0) OIS HSS.

¢) External Reconstruction.
2037088 85T,

f) Inflation Adjusted Statements.
DI 530 HEJSD.

g) Need for Goodwill Valuation.
HEDS DD SBHES.

h) Social Balance Sheet.
RoBI0E eR) - W& DHE.



02)

03)

04)

SECTION - B
Answer any two of the following. (2 x10=20)
DDe B DIOED DBIEIHHDWO F3POTED.

Define Ratio Analysis, Explain various types of ratios.
DB TN DEDOD, DO 5500 DIV HBOOHE0.

What are the factors influence the valuation of shares?

o870 SDOOYEP HeIDBO W SeBSeD D7

From the following information calculate value of goodwill on the basis of
3 years purchase of super profit of the business.

a) Average capital employed in the business is Rs.18,00,000.

b) Rate of Interest expected from capital having regard to the risk involved
is 10%.

c) Net trading profits of the firm of the past 3 years Rs.3,22,800/-,
Rs.2,72,100/- and Rs.3,37,500/-.

d) Fair remuneration to the partners for their services is Rs.36,000 per
annum.

808 DHFERB0 o0k OBERS g0 3 DOBBT® E2H0H%0 8gPSom (HEDS
B070e70,055520 TOHOE.

a) O5e0 B500eOE0HL Ee.18,00,000/ -.
b) Sreped eregssn 10%.

C) 3 éoégoae) DG epgeen 830.3,22,800/-, ©830.2,72,100/- 0O0ID
850.3,37,500/ -.

d) 875030 JHOB BHOT3 FPOSTREHD B3.36,000/ - DOBE0DS.



consolidated balance sheet:

05) From the Balance Sheets and information given below, prepare a

Liabilities Rs. H | S Ltd.| Assets Rs.H | S Ltd.
Share Capital Sundry Assets 80,000 | 12,000
Rs.10/- Fully | 1,00,000 | 20,000 Stock 61,000 | 24,000
Paid Debtors 13,000 | 17,000
P& Lalc 40,000 | 12,000| Bills receivable 1,000 - -
Reserves 10,000 | 6,000( 1,500 shares
Bills payable --| 3,000 in “S” Ltd. 15,000 - -
Creditors 20,000 | 12,000

1,70,000 | 53,000 1,70,000 | 53,000

a) All the profits of “S” Ltd. have been earned since the share were
acquired by “H” Ltd. but there was already reserve of Rs.6,000/- on

that date.

b) The bills accepted by “S” Ltd. are all in favour of “H” Ltd. which had
discounted Rs.2,000 of them.

c) Sundry Assets of “S” Ltd. are under valued by Rs.2,000/-.

d) The stock of “H” Ltd. include Rs.5,000/- bought from “S” Ltd. at a
profit to the later of 25% on cost.

DD /YD BR-D,0 DPen HOOH VBS  HHRwSHD 00k DHELS
BRy- 05,0 HEGO BT WBODHOG.

;0 H (=) |S o. €3:00e0 H (83%) Se.
ToeTo BATPOEDO DD 80 80,000 | 12,000
83.10/- °H,5 | 1,00,000(20,000| 00 61,000 | 24,000
DR BYODDD 220083 (50080 13,000 | 17,000
ePETOEPO growso 40,000[12,000| s0e0 edenen 1,000 - -
OB DO 10,000{ 6,000| “S” ©®5063&e3
BYOD® e - - 3,000| 1,500 aeeree
22008TTPEBLD 20,000] 12,000| 2080 15,000 - -

1,70,000[ 53,000 1,70,000 | 53,000




a) “S” 980BES ergrean “H” 0BG deerresnd o550 w08 moe3
008 DOPDODDY. S WOBLD P50 OB, 6,000 é@a).

b) “S” 980886 ©woBs00ND BegoRary “H” D8EB&ES Ho20PoDDD. w32e3D
630.2,00 005 &F2,065 TRLD.

C) “S” D80BESD ar<S 890 E7.2,000 BB e Ee3odd.

d) “H” 930855 0838 0e&® “S” d8063& 5008 §°5 5000 E0LDHD. OO
OO QoS 25% €30eI808° 8°D.

SECTION - C
Answer any two of the following. 2 x15=30)
06) From the following details prepare Balance Sheet.

Stock Valacity 6 times

Opening Turnover Ratio 2 times

Fixed Asset Turnover 4 times

Gross Profit 20%

Debit Collection Period 2 months

Creditors Payment Period 73 days

The gross profit was Rs.60,000. Closing stock was Rs.5,000 in excess of
the opening stock. Reserves and surplus amounted to Rs.20,000/-.

808 DB GHABRA0D SRY-8,© HEPO BOTED BOHOE.

DB Beere3 6 &Y

B 550 0355 2 Bex
Ryoeigen 6356 4 Be

é@e) 3830 20%
20EITFRD BTV SO0 2 Jdoen
200ETIOEBR BDHOK) SO 73 &%ren
Kx)g@ 30835200 850.60,000/ -

50808 DELBY B3e.5,000 SPB0ET DEDED BOE3 DB D238y, S0O0KD &J(i)*é%

832.20,000.



07) Assets and Liabilities of Platinum Ltd. as on 31 March, 2008 were as

follows:
Liabilities Rs. | Assets Rs.
Share capital 2,000 Land & Building 1,10,000
Shares of Rs.100 2,00,000 | Plant & Machinery 1,30,000
each fully paid
General Reserve 40,000 | Patents 20,000
Surplus a/c 32,000 | Stock 48,000
Creditors 1,28,000 | Debtors 88,000
Income Tax Provision 60,000 | Bank 52,000
Preliminary Expenses 12,000
4,60,000 4,60,000

The expert values land & buildings at Rs. 2,40,000/-, Goodwill at
Rs.1,60,000/- and Plant & Machinery at Rs.1,20,000 out of the total
Debtors of Rs.8,000 are bad. The profits of the company for 3 years
80,000/-, 90,000/- and 1,06,000/-. The company follows the practices of
transfering 25% of profits to General Reserves. Similar types of companies
earns at 10% of the value of their shares.

Ascertain the value of shares of the company under :
a) Intrinsic value method
b) Yield method and

c) Fair value method.



098)

09)

$8 31, 2008 5Re350 BoD) 00 &3] - B, HEJ B ADD DGO GHO.

@,e0 S, | esoen Goe.
PEIENTEOE D ED 85980, 2I5aIee0 1,10,000
2,000 a7ee7eD 2:8,0¢38 oo, OO Teen 1,30,000
530,100/ -© 308, 2,00,000 | e30¢x 20,000
Dogetes Oty 40,000 | D 48,000
BSOS groeso 32,000 | exoes 5900 88,000
220085 TI0EBED 1,28,000 | e30%:¢58 e 52,000
BEPODY D OB 60,000 | Hpc5&08 epBzen 12,000

4,60,000 4,60,000

80080, PHDPO HeH T0.2,40,000, HEDHS Hewsdd ©30.1,60,000, Ro0OED
ODOTEEV HEVH 83°.1,20,0000007° OB 0DO0Y w250 S&,0LBISD.
2008s  (50S° RBO 30.8,000/- CeeRE0HENT BOGPSERDD. B0
Q3008 93N 3 DO HBODMP 80,000, 90,000 0OOKD E3°.1,06,000. Bod
B0 ©gRO H0G DB VODBSO IO 20% GRS OBEE HoBoS
BTRBHED BID. R DEBOD EODD 30600 D 10% CodGOV0D. DB
DOBDISE B8 LoO DRBO® TR FpE3D0 BODD CINE, TR DB
S506°508, |

a) OB DOOB HES
b) e Seos BB
C) OM0EROD Bwe 508, HEB.

Define financial reporting explain various types of financial reporting.

D& OVFYOHD DFEI0D), DO TSeOD HHOOIDE.

Enumerate the factors that should be considered in valuing goodwill,
briefly explain their importance in this regard.

HEDS B8,0DE° DO €5 WOTD DD ? o3 FosYPEBE PBOCTTO.
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M.Com. DEGREE EXAMINATION, MAY - 2018
Second Year

A-ACCOUNTING
Advanced Cost and Management Accounting
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any four of the following questions. 4 x5=20)

Q1) a) Nature of cost accounting.
B0 ©35°0e306 QDggresdan.

b) Product cost.
) BODHHD.

c) Absorption costing.
DODD 5550T208H0.

d) By product.
&5 &858,

e) Objects of LCA.
LCA ogp se0.

f) Sales budget.

€9530,500 20GeS.

g) Special report.
DBE DBDE.

h) Capacity variance.
DREVTR) HTIGEdE0.

SECTION - B
Answer any two of the following questions. (2 %< 10 = 20)

Q2) State the role of cost accounting.
Hg00 ©3°0e3086 OB BLVYIV.

03) Explain the methods of cost allocation.
B30 BeIP000K) HEEBOOBI HBOOYFD.



04) Product A yields by-products B and C. The joint expenses of manufacturer
are :
Materials: Rs.5,000; Labour: Rs.4,000; Overheads: Rs.4,500; Subsequent
expenses are as follows:

A B C

Rs. Rs. Rs.

Material 1,000 800 900
Labour 1,200 700 850
Overheads 1,300 500 750
3,500 2,000 2,500

Selling price 21,000 10,000 9,000
Profit on sales 50% 50% 335 %

Show how would you apportion the joint expenses of manufacture and
prepare the necessary cost accounts.

FEE A 68 6565585 B shoon C 0 k0000, 63 ean,d pmien s o
EalnToler fl‘aagan.

Baéﬁomgg: $30.5,000; Fa: 830.4,000; &DS 833@: $30.4,500; BEDHO PTe0 &3

£0& D50 €A

A B C
BoeSoosne 1,000 800 900
50 1,200 700 850
£:55 375 1,300 500 750

3.500 2,000 2,500
©BO G55 21,000 10,000 9,000
©B,500D &ogT0 50% 50% 335 %

GBS BI0,B B0 D DO DWD® WPDBP OBVEIOD HOD
QOB BOTTED TATED.

035) Prepare a flexible budget for the products of 80% and 100% capacity on
the basis of the following information:
Production at 50% capacity 5000 units
Raw material Rs.80 per unit
Direct labour Rs.50 per unit
Direct expenses Rs.15 per unit
Factory expenses Rs.50,000 (50%) Fixed
Administrative expenses Rs.60,000 (Variable)



006)

80% OO0 100% Fptsepe &BSE FBS @RS aged SaTsd Wotosw. &8
NS /YD D300 BLRBOM:

50% €55 88 88 5000 ODIRDEY

3008 DTIPTVED L32.80 &-8, 0F07eDESS

DB F&0 830.50 258, 0D0eDE5S

DB PO T39.15 208, 0IeDESS

RSB PO 832.50,000 (50%) ?’(\p)cso

DOV PEYLV B32.60,000 (58)

SECTION - C
Answer any two of the following questions. (2 % 15 = 30)

The Gokul Co. Ltd., accepted a work order to supply 100 units, which
passes through from machines, before its completion. The cost details are
as under:

Materials purchased Rs.8,000; Wages paid Rs.500

The working hours of each machine is on follows.

Machine No.I 200 hours @ Rs.1.25 per hour

Machine No.Il 160 hours @ Rs.2.50 per hour

Machine No.III 240 hours (@ Rs.3.00 per hour

Machine No.IV 132 hours (@ Rs.2.25 per hour

Materials costs Rs.800 found surplus returned to stores after completion of
the job. Office overhead 40 percent of works cost, but due to increase in
cost of administration, it has been changed at 50% rise in office expenses.
You are required to prepare job cost sheet and to determine the price of the
job by changing 20 percent of the total cost as its profit.

535S B0HO 100 OHIRDED DEHT WODHEDE WOAEDODDD. RO TN
QDOTO DT SO VOHTORD DHD. OD ©BY H;0H0 0B DEGHNM?
OTSTe BROTOD.

B0e30aDS 520650 1130.8,000; BBa0e0 WHOKY) 830500

QOB DTS (50820 OO HESHNT? HHE.

oo Boaxdd [ 200 Gokoen &32.1.25 <3P,
oHogsa0 Soaxdd Il 160 Ssoten 832.2.50 3%,
oHogsw Boaddhd Il 240 Sotoen  E3.3.00 <5°DH,H
OHogEw Boaddd [V 132 otsen  &x.2.25 <5°DH,H



BB3DODS 67.800 QorHOOTO 805 PRYSTPR VITE DO WADDBD.
D00 PBPO FRED HOHHVD 40 TBHOT DO, S0, HOVOD PO
DSHBO SoBEIT0TIES B8 B0 50 TN HEEI DOTTHBHD DFOODTLD.

D POITHEVOBO BEBHNT WED, HOH DIOSB HBOLPED, B
G550 B0 ;0D 20% OPHBH0T HOWBIDBEY (5550 DZONOO.

Q7) From the information given below, calculate:
a) Efficiency variance
b) Volume variance
c) Capacity variance
d) Calendar variance
Budget Actual

No. of working days 20 22
Standard man hours per day 4,000 4,200
Total output in units 80,000  1,10,880
Standard overhead rate per

Man hour 10 Paise 10 Paise

88 808 D&eressin 0ol 88,0508
) DOBDID DSSeaE0
b) DoEsen HSSeaE0
c) DB ED OSSN
d) =806 eSS0
0@eS DD

DO Daeen 20 22
57038 F&0 (50en 59arED 4,000 4,200
B0BO BB OHROYS? 80,000  1,10,880
B0 SOLED DosiToeds

£:5553708& 30 10 De0 10 D0e0

08) Classify budgets with examples.
DGO BrRIPSROS HYEDOTHBL.

09) Analyse different kinds of cost reports.
DO B0 K00 DBDEOKO DBFAI0TIOHWD.

+4 4+



(DCM25)

Total No. of Questions : 9] [Total No. of Pages : 4
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Second Year
A - ACCOUNTING
Accounting : Taxation
Time : 3 Hours Maximum Marks : 70

SECTION - A
Answer any four of the following 4 x5=20)

Q1) a) Casual income
QXSS BEeaHEW

b)  Ordinary Resident
DGSEd DT

c) Partly exempted incomes
PGB0 DODIE0NV0TTDEDS eeTe0sIP0

d) Business or Profession
Do D0 B )8

e) Total Income
B0B0 BPODO

f)  Seizure
I Yed

g)  Tax deduction at source
00BN HEF HBY 80D

h)  Penalties
BOBIPT0

SECTION - B

Answer any two questions (2 x10=20)

02) Give an Overview of Income — Tax law in India.
3P BESBF0S® e3c3o0H é@ B0 5708 HBOOTHDED.

03) How is incidence of tax based on Residential Status of an Assesse?
DD DBDY, DY DPOVO B35 DODOGRY BLVE.

04) Mr. X is employed with AB Ltd. On a monthly salary of S 25,000, per month and
entertainment allowance and commission of S 1,000 p.m. each. The company
provideshim with the following benefits :

a) A company owned accommodation is provided to him in Delhi. Furniture
costing S 2,40,000 was provided on 1.8.2016.



05)

b) A personal loan of S 5,00,000 on 1.7.2016 on which it charges interest @ 6.75%
p.a. The entire loan is still outstanding. (Assume SBI rate of interest to be 12.75%
p.a.)

c) His son is allowed to use a motor cycle belonging to the company. The company
had purchased this motor cycle for S 60,000 on 1.5.2013. The motor cycle was

finally sold to him on 1.8.2016 for S 30,000.
d)  Professional tax paid by Mr. X is S 2,000.
Compute the income from salary of Mr. X for the assessment year 2017 - 18.
Mr. ‘X’ o& 5,8 AB. 93088 500067 665,83, ©0tHE mem 980 80800y o &80 S

25,000 &&%¢s grs 0 S 1000 Sovoso 5800S 8oes 5568 S 1000 Soad &8 8od 8o
BJotz0 ég@o&.

a) BHH B0DDB HOVODODS HHB RPETVDO EJXOD. 1.8.2016 ot HYWE PO S
2,40,000 srwe x50 20308.

b) 1.7.2016 me 58658 8550 8oes S 5,00,000 @500 20808, 8680 3 Shamen BY
58 6.75% H0SETDB, wBoFo &% a8 wseowme @O (SBI £& Teo 12.75
DOBZTOBT? ©FE0E3)

C) o8 HoROPODS 8RS TSR Mr ‘X’ H5mcH@E dOTRATE. oD &8
BroeoS @osemeg 1.5.2013 e S 60,000 o S°SE0 OB BoRd B Beernd

@R 1.8.2010 e S 30,000 o8 Mr ‘X’ 8 es,0 s0808.

d) Mr ‘X’ 39oos $8 o853 S 2,000, 2017 — 18 Hos580208 Mr ‘X’ o3, dso So0d
SRS 8weoRy 88,0t508.

Mr. Ramesh & Mr. Suresh are brothers and they earned the following incomes during
the financial year 2016 — 17 Mr. Ramesh settled in Canada in the year 1994 and  Mr.

Suresh settled in Delhi. Compute the total income for the assessment year 2017 -
2018.
Particulars Mr. Ramesh Mr. Suresh
(in S) (inS)

a) Interest on Canada Development Bonds (only
50 % of interest received in India) 35,000 40,000

b) Dividend from British company received in London 28,000 20,000

c) Profit from a business in Nagpur, but managed
directly from London 1,00,000 1,40,000

d) Short term capital gain on sale of shares of an
Indian company received in India 60,000 90,000



¢) Income from a business in Chennai 80,000 70,000
f)  Fees for technical services rendered in India, but

received in Canada 1,00,000 -
g) Interest on savings bank deposit in UCO Bank, Delhi 7,000 2,000
h)  Agricultural income from a land situated in

Andhra Pradesh 55,000 45,000
i)  Rent received in respect of house property at Bhopal 1,00,000 60,000
j)  Life insurance premium paid - 30,000

2016 - 17 o858 0058008 ©F CSHR,BS § 00 Lo LTDRO DHOVPOODD

14

BTAROB) B8 OO RH5¢00 BOB0D. § CEON 1994 Ho0& BI@S® DBRVWTE. § WIN
B9 DBDXTRE B8 oD DST TRg0? 2017 - 18 BDVBO0LS HOBE0DE B0 STOHRY
88,0506.
CE S 088
(650.6%) (50.6%)

a) B5we BHOHI0ES 2320& B B (50% 5 grcS
BFoSs {8O0ee) 35,000 40,000
b) 288 5020 H00& oGS & {EOoNS BOBOE 28,000 20,000

C) ©OBSE Ho0D DYBPOTIDEISET TIPS & &

aTo@PC0 B eSO 1,00,000  1,40,000
d) 3Ro83E 503D, HYSOE HuROESS eRgReD,

e300 OP,EI0 TR TP 8105 BFOS D EOODSD 60,000 90,000
€) BI S0 @G0 D HYPS Swe0HO 80,000 70,000

f) 2RE3B806° JoBBE DB FoDBOLE

$er, 500 @SS & 8000 2O 1,00,000 -
g2) &8 6% UCO e 0868 65 D0eo) groees®
850 WO o0 HQS B 7,000 2,000
h) o HBE &% & g0 D HYS HHVAD BFPADHO 55,000 45,000
1) aPRES® &5 R D HYS 03 1,00,000 60,000
j) 228 Ho Heooo BYoD - 30,000
SECTION - C
Answer any two questions (2 x15=30)

06) Enumerate the incomes which are fully exempted from tax
BTPODH HEY THEIBD o0& VF® - 10 JPYTe OSTIE0N0 TG SEROTROD B88,05086.
Q7) The following details have been supplied by the Karta, of an HUF aged 62 years. You

are required to compute its total income and tax liability for the Assessment Year 2017
-2018 :



a) Profits from business (after charging S 1,00,000 salary to Karta for managing the
business) S 15,00,000.

b) Salary received by the member of a family S 60,000.

c) Director’s fee received by Karta from B Ltd where HUF holds 20% shares but he
became director because of his qualifications, S 40,000.

d) Rental income from house property (after deduction of municipal taxes S 12,000) S
78,000.

e) Dividends (gross) from Indian companies, S 15,000

f) Long — term Capital Gain, S 80,000.

g) Short — term Capital Gain, S 30,000.

h) Donation to a school, which is an approved institution, S 1,00,000.
i) Deposits in public provident Fund, S 20,000.

j) NSC — VIII issues purchased, S 40,000.

B8 BO® DROTPOD BY 5008 8000 20808, 2017 - 18 DB DoRTL HODHSTOE
8oH BwEo 8weaHO OO0 DI §79E3;BH0 B8 BT o500 88,0506,

a) TEFCO D engRed (TERGO  WROBOLVOFPOLOE D BE GBwE, HBo 1

OFERRRaben B8y Soogs) S 15,00,000.

b) 6002068 &8 5.8 Hrogrg dso S 60,000.
¢) B Ltd s00& 85 80508 3356 der. B Ltd &° 8ot 985 gé0005055 20% aeer

S, BED 63 9580 S0 8G BBESE @onmed, S 40,000.
d) 55} emeoo B SRS 03 (S0YHS Hagen S 12,000 BYoods Sos) S 78,000
¢) &9Bo& (xpw) ees5doD sSowde 3 S 15,000
) BF=e08 Bome oo B eweren S 80,000.
g) Kgeeds Horecmee B evgren S 30,000.
h) 02,008 aQS HBSes, B0 BBTBOWES Do S 1,00,000.
1) 5Q8 OB Ho&S? asradvse S 20,000.

j) NSC — VIII agmege s2gocs S 40,000.

08) Explain the powers and duties of Income Tax Officer.



BOD HIXY BHSO AN, WHSTPED EDOTN DGOV DHO0S0k.

09) What do you understand by appeals and revisions? Examine the process of appeals and
revisions according to Income Tax Act, 1961.

B30 BoOATN OB OBIPBHO? BIPOD DI BB 1961 OReD HoOCKD OPeF DB
H0890508.

*000



